1500m

TARGET STANDS

Chamfer inside of both front
legs to allow legs to widen.

4"x 2” (47mm x

100mm) Timber

6 meters

——

Rope or Chain

15mm Galvanised
Steel Staples x 3

1400mm

M10 Threaded Bar

M10 Square plate washer x 2

M10 Nut x 2

]
350mm

o L

Screws: 4.5x70mm

Front block is sacrificial.
The target rest on the rear block

257 Rayleigp

| SHOOT

~O)~ | THROW )

1 SCOUT




